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Public Administration
Paper III

TNRIITET
gyautent II1

Time Allowed : 2% Hours] [Maximum Marks : 150

Note : This paper contains Seventy Five (75) multiple choice questions. Each
carrying Two (2) marks. Attempt All questions.

GOl : A YA THY Ueew (75) Igaar YA fol oTRd. Uoieh TR | (2)
O SRA. W YA Higel.

1. If the President wants to resign, he | 1. TSIAMI <0 U TSCUAT SIeAelie]

shall address his letter of FIUMHS a2

resignation to :

(A) YRAT=N &I e

(A) Chief Justice of India .
(B) YIRA™ Yd9em™

(B) Prime Minister of India

(C) YRAME SIS
(C) Vice-President of India

(D) SRET=T FHTaT
(D) Speaker of Lok Sabha

2. U WRIEA URIEhE Y@
2. The Administrative Head of the

State Administration is ............... . s

(A) Governor (A) T=HHTed
(B) Chief Minister (B) gl
(C) Chief Secretary (C) q=a wf=d
(D) Finance Commission (D) fo smEm

3 [P.T.O.



The Chief Secretaries Conference is

presided over by :

(A) Governor

(B) Chief Minister

(C) Union Minister for Home Affairs

(D) Cabinet Secretary, Govt. of

India

The executive power of state in India

isvested in ...coovveveneennenn... .

(A) Governor

(B) Chief Minister

(C) State Cabinet

(D) State Administration

MAY - 21316/II1—D

N0

qed dieare aiee=l sTee

(A) TSTUTA

(B) &It

(C) sra TEfaymr ot

(D) heRMEATET HiHSs Hiad




Match List I with List II and select

the correct answer from the codes

given below :

(@)

)

(c)

d)

(1)

(2)

3)

(4)

List I
Attached Offices
Subordinate Offices
Ministry
Secretariat

List II
Largest Subdivision
Executive Direction
Policy Making

Field Establishment

Codes :

(@ b)) (© (@@

@A O @ 3 @

B) @2 @ @O 3

© 0 @ @ @

D 1 @ @ 3

MAY - 21316/II1—D

= 1R = I & Sfesan ST et

feeiean Hehdlehlqd ard 3ar fee -

(@) A HETAA

(b) THM HEEA

(c) W™

(d) Gfadare™

gt 10
(1) forsqa Sufaum

(2) SEEN feemes
(8) oy fAfdd

(4) T =TI

K3 -
.
.

(@)

@A

(B) @)

©) @

D) D

®)

4)

4)

2)

4)

(c)

(3)

(1)

3)

(2)

()

2)

3)

4)

3)

[P.T.O.



The functions of Union Public

Service Commission can be extended

by :

(A) President

(B) Prime Minister

(C) Parliament

(D) Ministry of Personnel

The classification of services in India

is governed by the :

(A) Civil Service Rule, 1930

(B) Civil Service Rule, 1950

(C) Civil Service Rule, 1960

(D) Civil Service Rule, 1987

MAY - 21316/II1—D

Y ARTa] STENT=A &= faar

(B) Tagem™

(C) ¥R

(D) I HAT

(A) AR FaT wEEl, 1930

(B) AP TaT w1EEl, 1950

(C) AR TaT w1FEl, 1960

(D) R Yel h1agl, 1987




10.

The primary function of Personnel

Administration is :

(A) Recruitment

(B) Training

(C) Manpower Planning

(D) Position Classification
Manpower planning precedes :
(A) Recruitment

(B) Training

(C) Selection

(D) Probation

Informal Training broadens an

individual’s :
(A) Faculty
(B) Knowledge
(C) Efficiency

(D) Relations

10.

MAY - 21316/II1—D

ST UIRTeIo HeR= Eelte
ear foeaifid 8

(A) FHTHRITT
(B) 9™
(C) HrIdeqHar

(D) gay

[P.T.O.



11.

12.

Which of the following report deals

with the relations between the

specialists and generalists ?

(A) Haldane Committee Report

(B) Sarkaria Commission Report

(C) Fulton Committee Report

(D) Kothari Committee Report

Reservation for the Scheduled

Castes and Scheduled Tribes in the

services has been provided in the

Indian Constitution under ................ .

(A) Article 315

(B) Article 335

(C) Article 365

(D) Article 375

11.

12.

MAY - 21316/II1—D

EATeTUeh! ShIUAT 3TgaTel fersio 3rfor

YR TR frfed o ?

(A) B it oTeaTd

(B) TR 3N 3Tedra

(C) Heted |l 3Tgard

(D) HIBN Gt TedTa

FIfThd ST/ SIS HAHE  STRET0

N N fa
TRAT TS 0 HeTqEel

feorl emg 2

(A) %cH 315

(B) %eH 335

(C) &hcTH 365

(D) hetH 375




13.

14.

The TUnion Public Service

Commission of India has been
established under the .................... of

the Indian Constitution.

(A) Article 315

(B) Article 320

(C) Article 325

(D) Article 335

The Railway Budget was separated
from the Central Budget in the

VAT eeevvieeieiiiiieeeeeiineeeenns .

(A) 1920

(B) 1921

(C) 1922

(D) 1923

13.

MAY - 21316/II1—D

Y RGeS AR ST

I HAHETES HIOA

(A) <hetH 315

(B) scH 320

(C) sctH 325

(D) cTH 335

" .

(4 HAQIST{2An M

SHEEECCT

(A) 1920

(B) 1921

(C) 1922

(D) 1923

[P.T.O.



15.

16.

The term ‘Performance Budget’ was

coined by :

(A) Administrative Reform

Commission

(B) Second Hoover Commission of

USA

(C) Estimate Committee of India

(D) First Hoover Commission of

USA

The number of demands in the

general budget for civil expenditure

is :

(A) 103

(B) 106

(C) 102

(D) 109

15.

16.

MAY - 21316/II1—D

FIALl SIS B Ve TAN

THE Yafed ST

(A) TRMET GER 3TN

(B) T gl AN (3THIER)

(C) 3iere |iFdt (9Rd)

(D) ufgel geax AN (STARERT)

AT STSTSISRTd A ©r=Ei=a

A= A

(A) 103

(B) 106

(C) 102

(D) 109

10



17. Match List I with List IT and select

the correct answer from the codes

given below :

(@)

(b)

(c)

d)

(1)

(2)

3)

(4)

List I
Cash budget
Dual budget
Revenue budget
Single budget
List II
France
Britain
USA

India

Codes :

@ & (@ @

@A 2 @ & @

B @ 3 @ @

© 3 1 @ @

M 3 @ @O @

MAY - 21316/II1—D

17. g1 19 = I o Seean afor @redt

feeTed Fehdiehlqd ard 3aR faer :

et 1
(@) @ 31ddehey

(b) fg s1dgseq

(c) TRYA ALHhcT
(d) TH AdEHTT
e 11
(1) W

(2) fored

(3) TR

(4) HRq

- -
-
.

(@)

A) (2)

B) @)

) 3

D) 3)

(®)

4)

3)

(1)

(4)

(c)

(3)

2)

(4)

(1)

(d)

1)

1)

(2)

)

11

[P.T.O.



18.

19.

Audit in India is governed by :

(A) Constitution

(B) Act

(C) Executive order

(D) British Legacy

The Union Government allocates

development funds to the states

under article :

(A) 268

(B) 282

(C) 284

(D) 285

18.

19.

MAY - 21316/I11—D
TRAMES ol &d IigR fafta &

STar e

(A) TsTHET

(B) htaaT

(C) HER ST

(D) fodter W

S EIMET &k TSIl

ey T A=t faurmn =a.

(A) 268

(B) 282

(C) 284

(D) 285

12



20. Match List I with List IT and select

the correct answer from the codes

given below :

List I

(@) Finance Commission

(b) Comptroller and Auditor
General

(¢) Commissioner for SCST

(d) Central Administrative
Tribunal

List II

(1) Plural Body

(2) Created by an act of
Parliament

(3) Under Central Government

(4) Common to Centre and the
States

Codes :
(@ b)) ( (@@

A 3 2 @ @

B @ B3 @ @

© @2 @ @O B

O 1 @2 & @

MAY - 21316/II1—D

20. =T I it g= 1T & Segen (01 et

feeTed Fehdiehlqd ard 3aR faer :

(@)

b)

(c)

d)

(1)

(2)

3)

(4)

el 1
fog smam

e 9 HEIEdT

ifTehd SIIT-STHT STTeR

HIAF TR AR
e 11

g He

qHe= S A

e YEATET ST

s MM T gA §HH

- -
-
.

A) 3)

B) @)

©) 2

D) @)

(@ b)) (© @

@ @ @

3 @ @

4 @O 3

2 3 @

13

[P.T.O.



21. Which of the following is the first

22.

step in starting the Research

Process ?

(A) Searching sources of

information to locate problem

(B)

Survey of related literature

(C) Identification of problem

(D)

Searching for solution to the

problem

A hypothesis should always be :

(A) Interrogative

(B) Analytical

(C) Descriptive

(D) General

MAY - 21316/II1—D

21. GYNYA gfewd=an yRv=l ufeel 9

WATAsh! hIOl 38 ?

(A) &g gusad=a1 Aifgdi= I

I

(B) Gafyd Hifecars gaeqor

(C) HHE= A

(D) THE= UGS S

(A) TTATHSD

(B) faveromomeqs

(C) IUTcHS

(D) wmE=

14
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23. The interpretative phase in research | 23. HIMEA SEEard fa=qrcas <o
design means : RISt :
(A) Data collection (A) wfedt Heher
(B) Data editing (B) wifgd! Hued
(C) Data coding (C) et wifa
(D) Data analysis
(D) wfedt fereromn
24. T74th Constitutional Amendment does R .
24. TeleTdehl ShIUER 743 Al gl chelH
. . o
not apply to which of the following * . T AR 2
(A) Municipal Corporation
P P (A) FHIA HARTE
(B) Metropolitan Corporation
(B) WRMAR T
(C) Nagarpalika
(C) Tarfeteht
(D) Group Gram Panchayat .
(D) T UHY=TId
15 [P.T.O.



25.

26.

Which of the following is not a

“graphic representation” ?

(A) Pie chart

(B) Bar chart

(C) Table

(D) Histogram

In which year the Municipal

Corporations were set up in Bombay

and Calcutta ?

(A) 1687

(B) 1726

(C) 1909

(D) 1924

25.

26.

MAY - 21316/II1—D

TTATad]  SATAEd F&adl o

et T ?

(A) 5 =T

(B) "X =T

(C) dq&t

(D) fe=mm

Helg 3T SHeTehdl HETRUTIGIehT ShIuTe

e Tonfud e ?

(A) 1687

(B) 1726

(C) 1909

(D) 1924

16
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27. The District and Sessions Judge | 27. g 7T YvM =q=wehs & =T
work directly under the control feomETett s .
Of o, .
(A) TSeRiiEerl
(A) District Collector
(B) TsTUrA
(B) Governor of State
(C) fasft ==t
(C) Law Minister
(D) High Court (D) S==AETH
28. Change in social culture and | 28 QU H%ﬂv(‘lql aq7for J-Lqrqm'](q e Bl
Values is R m‘
(A) Linear Change (A) ™
(B) Up-down Change (B) Sed-STEmmTHt
(C) Circular Change (C) o™
(D) Revolutionary (D) HifaeT
17 [P.T.O.



29. Renuka

30.

31.

Ray Committee

recommended for the establishment

of :

(A) Separate Ministry of Social

Welfare

(B) Separate Ministry of Education

(C) Separate Ministry of Law

(D) Separate Ministry of

Environment

New Economic Policy’s focus
is on :

(A) System Change

(B) Liberalising Control System
(C) Closure of Unviable Units
(D) Outright Privatisation

The

Incremental Model was

propounded by :
(A) H. Simon
(B) Dror

(C) Follet

(D) Lindblom

30.

31.

MAY - 21316/II1—D

(A) HHSTHATIE W HAe

(B) Tgome st Haer™

(C) fad= T T

(D) 9IERUME A3 HAAd

qa ofrfefes envumEnT T
7 3.

(A) HIJECA

(B) =Herke fHa=ueed Hishodlh
(C) TH&H Theh o
(D) 92T WSHIHI

TUH-TTHM SEd ey
I qERA whal.

(A) TH. |EHA

(B) SN

(C) icie

(D) ferssa™

18



32.

33.

The various stages of Optimal Model
(Dror) are interconnected by

channels of :

(A) Authority

(B) Responsibility
(C) Communication
(D) Command

Out of the following which is the
major cause of Cotton Grower’s
(Farmers) suicides in Vidarbha

region ?

(A) Wrong Policies of State

Government

(B) Lack of Water Supply

(C) Entry of Multinational
Companies in Marketing BT

Cotton, Seeds and Fertilizers

(D) Lack of Electric Supply

MAY - 21316/II1—D

30, uRfeorferfifi wrew (SR) fafes 2o

(A) AfYERR
(B) STeTeQRT
(C) TER

(D) A=A

33. focwidial &gy IR (Iash-ar=)

ST Y@ R WEAeTdehl R0

e ?

(A) Tg YMEATE Fehi=l HRO

(B) ol qrergar=l HHE

(C) .21 hied Heq a T Jgie

foque o= g

(D) =S qRegATEl HHA]

19

[P.T.O.



34. Jan Dhan Yojana is meant for :

35.

(A) Vocational Training

(B) Housing

(C) Banking and Insurance

(D) Higher Education

MUDRA Bank’s (Micro-Unit

Development Reforming Agency)

purposes is to help :

(A) First generation entrepreneurs

(B) Rehabilitation

(C) Reconstruction

(D) Revival of PSUs

35.

MAY - 21316/II1—D

(B) e

(C) gageen offor fomm

(D) = foreqon

(A) dfge fucidial STl

(B) YeHeEATIA

(C) gHfH

(D) WESIeh YA ST

20



36.

37.

Who has described ‘Modern State’ as

Administrative State ?
(A) Henri Fayol

(B) W. Willoughby
(C) Sheldon

(D) F.H. Finer

Distinction between private and
public administration initially

was :
(1) Scientific

(2) Accidental

(3) Convenient

(4) Popular

Select the correct answer :
A @

(B) (1) and (2)

(C) (3) and (4)

D) @

36.

37.

MAY - 21316/II1—D

STYMH T & TEHRE T e 3T
U HIOT Helad MY ?

INBSUR RIS

(B) sy, foeirsit
(C) Wesd

(D) THTA. AR

s YR 0T WS gemee TRt

(4) RATH
g T e
A (D

(B) (1) =Tfor (2)
(C) (3) fur (4)

(D) 4)

21

[P.T.O.



38.

39.

40.

The first ‘C’ in POCCC functions

means :

(A) Co-ordination
(B) Command
(C) Control

(D) Collaboration

The Re-Inventing Government is

also known as .......ccoeeeuuiiineeeen. .

(A) New Public Management

(B) New Public Administration
(C) New Business Administration

(D) New Administrative

Management

New Public Management

emphasises on :

(A) Social Equality

(B) Lean Government
(C) Programme appraisal

(D) Management by objective

38.

39.

40.

MAY - 21316/II1—D

et [POCCC] &E™ged gfgen ‘¢
TS

(A) T
(B) 3=
(OREREL

(D) HigeH

R-z=g==iT TTegTi=<

G I CAC RS

(A) TEH A TR
(B) 7o\ weh wRmEA
(C) T SN JRmEA

(D) &M WRIEehE ST

el SHAEATIATET ¥R

LT 3T,

(A) QTSR FHE

(B) fowumM 3maa

(C) hTEHAT HedATh

(D) & e

22



41.

42.

The following is an art of

implementing welfare policies into

action :

(A) Social Administration

(B) New Public Management

(C) Development Administration

(D) New Public Administration

Final stage in the evolution of

Public Administration is :

(A) Search for principles

(B) Comparative study

(C) Concern for Public Policy

Analysis

(D) Development of New Public

Administration

41.

42.

MAY - 21316/II1—D

Eeileehl T HodUehil &R0 Jeaald

STHATT SOOI hell TR

(A) 9N, 99

(B) Tocileh SHaEITIH

(C) o= g9mEs

(D) Tadh GIMEA

s gYmEAT=AT SHTET Afaw T

@eiAdeh! hIoal ?

(A) T Y

(B) drdAfer 31939

(C) HreSIeh &0 fogeToomdse

(D) Tacies gemEETE faerd

23

[P.T.O.



43.

At

Which one of the following

characteristics is not identified with

Development Administration ?

(A) Change-oriented

(B) Result-orientation

(C) Client-orientation

(D) Value-orientation

‘The staff must have passion for

anonymity.” This statement is

associated with :

(A) Hoover Commission

(B) Fulton Committee

(C) Gorwala Committee

(D) Brownlow Committee

43.

At

MAY - 21316/II1—D

GATAIdeh! shiort Teh fogiomn foesmm

gemeART ffed A ?

(A) FEATHE

(B) fshranfoge

(C) UTEhIYHE

(D) "o e

HHEmY e 1w eee ST
gfgst. & faema ar=amwi gefuaq

AR

(A) R iyl

(B) ®eted |fAdt

(C) TReTen affdt

(D) Sfel |fHdt

24



45.

46.

47.

Line Agency is principally a :
(A) Functional subdivision
(B) Coordinating system

(C) Advisory agency

(D) Vertical relationship

The concept of “one subordinate and
one superior” is associated with :
(A) Hierarchy

(B) Unity of command

(C) Centralisation

(D) Span of control

Who

described the classical

approach as the Engineering

Approach ?
(A) Gulick
(B) Fayol
(C) Urwick

(D) Mooney

45.

46.

47.

MAY - 21316/II1—D

Gl SITHRTUT ¥ UM

3R,
(A) S SUfaYm

(B) ¥H<IS FqEA

(C) GeaNR SATHeho]

(D) SETHT Haie

T aiss ST Tk HiTee & Hehou

(A) TS
(B) ST Wehdl
(C) higeho

(D) fHE=or <mem

“orfusa gfteminn wuS eTfvEitR]

e’ o Fof TR My ?
(A) Tfeteh
(B) ®ara

(C) fa=

(D) T

25

[P.T.O.



48.

49.

Non-developmental administration

is also known as :

(A) Financial Administration

(B) Personnel Administration

(C) Traditional Administration

(D) Welfare Administration

Principle of scalar chain was

advocated by :

(A) Henri Fayol

(B) Urwick

(C) F.W. Taylor

(D) Barnard

48.

49.

MAY - 21316/II1—D

TR g9 =S

(A) fodg gemeA

(B) “hiftish wemmeH

(C) IR WemE

(D) A0 GIMEA

UFE 9 axd vl Yiddes el

gld 2

(A) T ®Ad

(B) o

(C) Th.EY. R

(D) sAE
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50. Which of the following is relevant

to span of control ?

(1) Nature of work

(2) Personality

(3) Age of agency

(4) Location of original units
Select the correct answer :
(A) (2) and (3)

(B) (1), (2) and (3)

(C) (1), (2) and (4)

D) (1), (2), (3) and (4)

MAY - 21316/II1—D

50. &0 &= Weielyeh! ShIvTcAT SZehTIN

oy AR ?

(1) MR @&

(2) SAfKIH

(3) STFVRTUT=R ShTcTTaEt
(4) B wh A
I g e

(A) (2) 3T (3)

(B) (1), (2) =7fo1 (3)
(C) (1), (2) =nfor (4)

D) (1), (2), (3) =0T (4)

51. The success of a hierarchical system | 571. qq{:h'tn'—l FELIE I91 WAfHehd: T
primarily depends upon : IR TIATA 3R
(A) Decision making (A) Taoia fasicor
(B) Control (B) T
(C) Coordination (C) Tu==
(D) Mutual faith (D) TER Tagers
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52.

53.

“One wheel (alone) does not turn and
keep the cart in motion.” Who is the

other wheel in Kautilya’s

Arthshastra ?

(A) People

(B) Army

(C) Amatya

(D) Kosh

“Business like the administration of
government may and should be, but

it is not business.” Who said it ?

(A) Woodrow Wilson

(B) Elton Mayo

(C) Mary Parker Follett

(D) Herbert Simon

52.

53.

MAY - 21316/II1—D

T =1k (heles) i Tredmel Tl <

STehd FTEl. hifCeaTea STLTTEATTER TR

ok A 3TE ?

(A) &

(B) &=

(C) 3THIA

(D) feit

YR ITEA AT STHA ol
IE q9Y o FEa™ qel '’ T o

" I ?
(A) IS foew
(B) Teed HA
(C) T Ut Hice

(D) BeS TEHA
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54. Development Administration does

not refer to :

(A) Administration of Development
Programmes
(B) Strengthening of

Administrative Capabilities

(C) Developing Political Culture

(D) Planning and Capacity

Building of Institutions

MAY - 21316/II1—D

(A) TorE FREFHNR T9TEA

(B) T TS GRSl

fa o ~

[Aeh[Hd V]

(C) TS G&hdl

(D) T e o emar i

55. According to F.W. Riggs, which of 55. TITHIcH HAIST TCERad! iy
the following is not an element of S N I
the overlapping feature of the
Prismatic Society ? (A) SRS
(A) Polycommunalism N f

(B) 3fdeh ARRMEGI
(B) Polynormativism
(C) er=iendmemg
(C) Formalism
(D) Nepotism (D) FrER
29 [P.T.O.



56.

57.

58.

Who put forth the concept of

constructive conflict in an

organisation ?

(A) Elton Mayo

(B) Mary Parkar Follet
(C) Max Weber

(D) Henry Fayol

The ultimate activity in Simon’s

decision-making is :
(A) Planning

(B) Designing

(C) Choice

(D) Evaluation

Management by integration and

self-control refers to :

(A) Need hierarchy theory
(B) Theory X

(C) Theory Y

(D) Path-Goal Theory

56.

57.

58.

MAY - 21316/II1—D

‘ ~ N 4 c_n .
Aol HAadiel AebIEl Aoyl

WAy ol Aiee 2
(A) Teed |l

(B) T Wt WiciE
(C) W oeR

D) T ®Ad

TgTe ol gfswda Traest St

(A) IRPISE]
(B) 9Iig-T=

(C) Tae

(D) HeAHA

TehTcH SHIETY 3101 T foeisrom=n Hey

(A) RS wEIE fag™
(B) ‘&' fag@

(C) ‘=’ fasm

(D) Tg-e49 fagi
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59.

60.

The crux of development

administration is :

(A) Technological change

(B) Cultural change

(C) Political change

(D) Societal change at large

Major characteristics of national

bureaucracies in developing

countries are :

(A) Basic pattern of administration

is imitative rather than false

(B) Deficiency in skilled manpower

necessary for development

(C) Wide spread discrepancy

between form and reality

(D) Dominant Political party

mobilisation

59.

60.

MAY - 21316/II1—D

foshTd QM M

g e

(A) difss ded

(B) TiEhpids sed

(C) TSIhid sgd

(D) =AU HHIfSieh &g

faRaTeia e AREMEE e

afyree § SR

(A) IR HAYd TR B Sliedriay

SR TR0 3TT”

(B) Tasrmm@dl o1ewass SRled 9w

AT hHA

(C) ardfaeharl o AT I g auhTed

(D) USThig ge&a=n guret Tfaeiieran

31

[P.T.O.



61. Assertion (A) and Reason (R)

Pattern :

Assertion (A) : W e b er s
bureaucracy model
is described as

‘Closed System
Model’.

Reason (R) : It considered
organization-
environment

intreactions.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 21316/II1—D

61. faum (A) s1for RO (R) 3R :

faa= A) ¢ FIE THWUE
JTETTE §¢ SHIE
YEY T 9 Sdl
S

&ROT (R) : @  GEEA-9I(ai0n

aa:fean w1 L.

Tl fooea Fhdiemyd Ira 99
IREEINE
Hehdieh :

(al N

(A) (A) 9 (R) SI&l seR 3ARd i

(R) T (A) 3 T TRH TR

[a

(B) (A) I (R) 3=l

= N +
SR 3TTRd, T

(R) T (A) ¥ 3T TIRIHII e

(C) (A) & SRR TR, R (R) ¥ I
3T

D) (A) T IF TR, WG (R) T TR
Y
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62.

63.

Which of the following activities are

included in staffing ?

(1) Recruitment

(2) Selection

(3) Transfer

(4) Promotion

Select the correct answer :
(A) (1) and (4)

(B) (1), (3) and (4)

(C) (1), (2) and (4)

D) (1), (2), (3) and (4)

Single unified grading personnel
structure in UK was recommended

by :

(A) Haldane Committee

(B) Fulton Committee

(C) Northcote Trevelyan Report

(D) Atkinson Committee

62.

63.

MAY - 21316/II1—D

Tt ST Fdiar A

SHIfHeRaRl 3R ?
(1)

2) fm=e

(8) SRl

(4) S

I g feer
(A) (1) =for (4)

(B) (1), (3) A1 (4)
(C) (1), (2) =nfor (4)

(D) (1), (2), (3) =0T (4)

TASHS] USh UhicHdh Wdhd HIHb

Tl RITRRE RO et ?
(A) Bleed |

(B) Heed @it

(C) Hifepfe IRfeaa sTEaTA

(D) 3TehIE wfHdl
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64.

65.

The spoils system in the USA was

based purely on :

(A) Patronage

(B) Kinship

(C) Social status

(D) Political Considerations

The principle of hierarchy of laws
as embodied in the US Constitution,

establishes :

(A) Power of Judicial Review

(B) Congressional Power to Enact

Laws

(C) People’s Supremacy

(D) Emergency Powers of the

President

65.

MAY - 21316/II1—D

SRR fasiar=t e e quidol
........................ -
(A) H&Thdl

(B) HTE

(C) wmfss it

(D) TStehta HeH

AR S G U1 T
............................ S S

e N

(A) A REIENIEELE] ATYHR

(B) HITHTET HTFET HI0AT STHHR

(C) SHad I3E

(D) TSITEALE SIS SATHRR
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66. Assertion (A) and Reason (R)

pattern :

Assertion (A) : In UK the

executive is a

part of the
legislature.
Reason (R) : UK did not adopt

the principle of

separation.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 21316/II1—D

66. faum™ (A) smfur &Ro (R) 99

faam (A) :  drciensd FEERN &
FHEHS A T 8.

%iuT (R) et fauesH=
eI A

TTell ool Sehdisyd Ina g

IEESIR

Hehdich :

(a) e Y

(A) (A) g (R) Tl SIS ATRd 3701

(R) T (A) T T TRH 3R

N oA =

B) (A) g (R) Sl SR 3Ted, Wq

(R) T (A) & 3T TIRIHII A

(C) (A) T IR R, WG (R) T IH
3y

(D) (A) & I% 3R, W (R) T SN
Eid
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67.

68.

69.

While discussing a budget, the

legislature cannot :

(A) given assent to the demand
(B) reduce the demand

(C) refuse the demand

(D) increase the demand

The Parliamentary Commissioner

for administration was appointed in

the UK in :
(A) 1957
(B) 1959
(C) 1967
(D) 1968

In the USA the spoil system was
discarded in favour of the ‘Merit

Principle’ by the following Act :
(A) Civil Service Reform Act, 1978
(B) Pendelton Act, 1883

(C) Hatch Act, 1939

(D) Civil Service Act of 1853

67.

68.

69.

MAY - 21316/II1—D

FedfgFmogey I=9t wLar fafures

(A) 1957
(B) 1959
(C) 1967

(D) 1968

[al N [al N d {
IR AE WeTAUSh! IV ShIFaId

UGl AREA T[UE qerE SRR
shell Bl ?

(A) PRI Fa1 GUROT HEET, 1978
(B) USwed MET, 1883
(C) &9 h1IST, 1939

(D) Rt Hel h1agl, 1853
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70. Assertion (A) Reason (R) Pattern :

Assertion (A) : France is more
unitary than

Britain.

Reason (R) : In Britain, local
government enjoy

a certain degree

of autonomy.
Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 21316/II1—D

70. faum (A) s7for &R (R) 99

faam A) ;@ w foeTdan S
THIH 3.

HROT (R) :  foeTwed wenfen o
FTE UM T@rFal
SYHNTT.

arell feeed HeahdreMyd arEa qa

IREEINE

Hehdieh :

(A) T8I (A) 9 (R) SR 3T1ed, 3T

(R) ® (A) ¥ Irg TR0 378

(B) =t (A) 9 (R) SR 2Ted, U

(R) ® (A) T g TIERI0 TRl

(C) (A) T SR 38, 90 (R) § I
3R

(D) (A) 8 = 36, 97 (R) & SRR
Y
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71.

72.

73.

As a control process budget has a

role of :

(A) Political

(B) Economic

(C) Moral

(D) Developmental

Classical approach to budgeting

supports :

(A) Deficit Budget
(B) Surplus Budget
(C) Balanced Budget
(D) Growing Budget

Which is not a feature of diffracted

society ?

(A) High Differentiation
(B) Functional Fusion
(C) Universal Norms

(D) Achievement Orientation

71.

72.

73.

MAY - 21316/II1—D

SIS s gfwaen qffen

(A) TS
(B) Tt
(C) faer

(D) fas™HS

STRTSIAehTe SIS gfeeh

SASTSIYSThTeT gTfcel <.

(A) T AT

[Nl e

(B) AR

CHEEPC

(C) Tgfera SieTsTa=h

(D) dEE ARSI

o~

ferfeRtd HHTSI WeileTueh! Shivld ofyTses
qrEr ?
(A) Sfends faveieLo

(B) EicHeh T
(C) dIfyass o
(D) wrair=t St
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74. Bureaucratic Development in | 74. i&IME IIMA NHEME=T TahTH
democratic countries are considered | e e Sal
to be :
. (A) FhNIcHS
(A) Positive
(B) Welfare oriented (B) Feamm e
(C) Antithesis (C) forremmer
(D) Democratic (D) TARMEIHS
75. Assertion (A) and Reason (R) 75. faum (A) enfor wror (R) q e
pattern : fagam A) :
Assertion (A) : I SATRRT A= HTETGR T4
Civil servants are influenced by IR TS T
political executives in their work. HEUT (R) :
Reason (R) : AT AT Widifaesh WihR Sl
Civil servants put up only such S ST Feh<ul TRt Wﬂ%
proposals that are likely to be EEIGH
approved by the Ministers. @relt feoiedr eahdimyA 9 g
Select the correct answer by using e -
the codes given below : Ce .
Hehdich :
Codes : < N
(A) (A) 9 (R) Tl sRIsR 3Aed 30T
(A) Both (A) and (R) are true and ®R) & (A) ¥ STTF S )
(R) is the correct explanation
of (A) B) A T R Tl SER 3:"%3, I
(R) T (A) o T TILHI T
(B) Both (A) and (R) are true but
(R) is not the correct (C) (A) & SR T, 90 (R) © kSd
explanation of (A) e
(C) (A) is true but (R) is false D) (A) & 9% %, 9 (R) & R
(D) (A) is false but (R) is true e
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